

ON A CLASS OF BOUNDED UNIVALENT FUNCTIONS

BY

H. A. AL-KHARSANI AND R. A. AL-KHAL

Abstract. The object of the present paper is to discuss some properties of the class of strongly starlike functions of order γ and type β , ($0 < \gamma \leq 1, 0 \leq \beta < 1$) in the open unit disk, such as sharp bounds of coefficients, the radius of convexity. Convolution and integral operators are also discussed for this class.

1. Introduction

Let A be the class of functions $f(z)$ of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

which are analytic in the open unit disk $\Delta = \{z : |z| < 1\}$. A function $f(z)$ belonging to A is said to be strongly starlike of order γ and type β in Δ if it satisfies

$$\left| \arg \left(\frac{zf'(z)}{f(z)} - \beta \right) \right| < \frac{\pi\gamma}{2}, \quad (z \in \Delta) \quad (1.2)$$

for some β ($0 \leq \beta < 1$) and γ ($0 < \gamma \leq 1$), and denoted by $f(z) \in \bar{S}_\beta^*(\gamma)$ ([9]), with $\bar{S}_0^*(1) \equiv S^*$ the class of function that are starlike. Note that $\bar{S}_0^*(\gamma) \equiv \bar{S}^*(\gamma)$, the class of strongly starlike functions which was introduced by Brannan and Kirwan [3]. For additional results on $\bar{S}^*(\gamma)$, see [3], [7].

Nunokawa et al. [9] obtained a sufficient condition for function in A to be in $\bar{S}_\beta^*(\gamma)$. Sharp bounds of the coefficients a_2 and a_3 were given in [2].

Received April 14, 2003; revised June 13, 2005.

AMS Subject Classification. 30C45.

Key words. strongly starlike functions, Hadamard product, integral operator.

In this paper we determine the sharp bounds of a_4 and the radius of convexity. Also, we state results concerning convolution and integral operator.

2. Preliminary Results

In order to derive the properties of the class $\bar{S}_\beta^*(\gamma)$, we need the following lemmas.

Lemma 1.([10]) *If $p(z)$ is in P , the class of all functions $p(z)$ analytic in Δ for which $\operatorname{Re}\{p(z)\} > 0$ and $p(z) = 1 + c_1z + c_2z + \dots$, then*

$$|c_k| \leq 2. \quad (2.1)$$

Lemma 2.([5]) *If $p(z)$ is in P , then*

$$\begin{aligned} |c_1^2 - c_2| &\leq 2 \\ |c_1^3 - 2c_2c_1 + c_3| &\leq 2. \end{aligned} \quad (2.2)$$

Lemma 3.([6]) *If $p(z)$ is in P and s is a natural number, then*

$$|c_n - c_{n-1}c_s| \leq 2, \quad n \geq 5, \quad n = 1, 2, 3, \dots \quad (2.3)$$

Lemma 4.([4, 11]) *If $p(z)$ is analytic in Δ and $p(0) = 1$, then for any complex number η such that $\operatorname{Re}\eta \geq 0$, we have*

$$\left| q(z) + \frac{1}{\eta} zq'(z) \right| \leq \lambda \quad \text{implies} \quad |q(z) - 1| < \frac{\lambda|\eta|}{|1 + \eta|}, \quad z \in \Delta.$$

Lemma 5.([2]) *Let $\mu > 0$, $0 \leq \beta < 1$ and $0 < \gamma \leq 1$. If $f \in A$ satisfies*

$$\left| \left(\frac{zf'(z)}{f(z)} - \beta \right) \left(\frac{f(z)}{z} \right)^\mu - (1 - \beta) \right| < \frac{(1 - \beta)(\mu(1 - \beta) + 1) \sin(\pi\gamma/2)}{|\mu(1 - \beta) + (\mu(1 - \beta) + 1)e^{i\pi\gamma/2}|}, \quad z \in \Delta, \quad (2.4)$$

then $f(z) \in \bar{S}_\beta^*(\gamma)$.

Lemma 6.([14]) *If ϕ a convex function and if $g \in A$ is starlike in Δ , then the function $(\phi * gF) / (\phi * g)$ takes values in the convex hull of $F(\Delta)$ for every function F in A .*

Lemma 7.([7]) *Let $p(z) \in P$. Then we have the following sharp estimates in Δ ;*

$$(1 - |z|^2) |p'(z)| \leq 2 \operatorname{Re} p(z)$$

and

$$\left| \frac{1 + |z|^2}{1 - |z|^2} - p(z) \right|^\gamma \leq \frac{1 + |z|^2}{1 - |z|^2} - \left(\frac{1 - |z|}{1 + |z|} \right)^\gamma, \quad 0 < \gamma \leq 1.$$

3. Main Results

Theorem 1. *Let $f(z) = z + \sum_{n=2}^\infty a_n z^n$ belong to $\bar{S}_\beta^*(\gamma)$ ($0 < \gamma \leq 1$, $0 \leq \beta < 1$). Then*

$$|a_4| \leq \begin{cases} \frac{2}{3}\gamma(1 - \beta), & 0 < \gamma \leq \sqrt{2/(17 - 15\beta + 6\beta^2)}; \\ \frac{2}{9}\gamma(1 - \beta) [17\alpha^2 + 1 - 3\beta\gamma^2(5 - 2\beta)], & \sqrt{2/(17 - 15\beta + 6\beta^2)} \leq \gamma \leq 1. \end{cases}$$

The result is sharp.

Proof. For $f(z) \in \bar{S}_\beta^*(\gamma)$, there is $p(z) \in P$ such that $zf'(z)/f(z) = (1 - \beta)p(z)^\gamma + \beta$. Assume that $p(z) = 1 + p_1z + p_2z^2 + \dots$. Then direct calculation gives us

$$\begin{aligned} \frac{1}{1 - \beta} a_2 &= \gamma p_1 \\ 2a_3 &= \gamma(1 - \beta) \left[p_2 + \frac{(3 - 2\beta)\gamma - 1}{2} p_1^2 \right] \end{aligned}$$

and

$$\begin{aligned} 3a_4 &= \gamma(1 - \beta) \left[p_3 + \left(\frac{5 - 3\beta}{2} \gamma - 1 \right) p_2 p_1 \right. \\ &\quad \left. + \frac{1}{12} \{ 17\gamma^2 - 15\gamma + 4 - 3\beta\gamma((7 - 2\beta)\gamma - 3) \} p_1^3 \right]. \end{aligned} \tag{3.1}$$

If $0 < \gamma \leq \sqrt{2/(17 - 15\beta + 6\beta^2)}$, then

$$\begin{aligned} \frac{3}{\gamma(1 - \beta)} a_4 &= \frac{1}{12} [17\gamma^2 - 15\gamma + 4 - 3\beta\gamma((5 - 2\beta)\gamma - 3)] (p_3 - 2p_2 p_1 + p_1^3) \\ &\quad + \frac{1}{3} \left[1 - \frac{17}{2}\gamma^2 + \frac{3}{2}\beta\gamma^2(5 - 2\beta) \right] (p_3 - p_2 p_1) \\ &\quad + \frac{1}{12} [17\gamma^2 + 15\gamma + 4 - 3\beta\gamma((5 - 2\beta)\gamma + 3)] p_3. \end{aligned}$$

By using Lemmas 1-3, we get that $|a_4| \leq 2\gamma(1 - \beta)/3$.

If $\sqrt{2/(17 - 15\beta + \gamma\beta^2)} \leq \gamma \leq 1$, then

$$\begin{aligned} \frac{3}{(1 - \beta)\gamma} a_4 &= \frac{1}{12} \left[17\gamma^2 - 15\gamma + 4 - 3\beta\gamma((5 - 2\beta)\gamma - 3) \right] (p_3 - 2p_2p_1 + p_1^3) \\ &\quad + \frac{1}{3} \left[\frac{17}{2}\gamma^2 - 1 - \frac{3}{2}\beta\gamma^2(5 - 2\beta) \right] p_2p_1 \\ &\quad + \frac{1}{12} \left[8 + 15\gamma - 17\gamma^2 + 3\beta\gamma((5 - 2\beta)\gamma - 3) \right] p_3. \end{aligned}$$

For Lemmas 1 and 2, we have that $|a_4| \leq \frac{2}{9}\gamma(1 - \beta) [17\gamma^2 + 1 - 3\beta\gamma^2(5 - 2\beta)]$.

When $0 < \gamma < \sqrt{2/(17 - 15\beta + 6\beta^2)}$, equality holds if and only if $|p_3| = 2$ and $|p_1| = |p_2| = 0$, that is,

$$\frac{zf'(z)}{f(z)} = (1 - \beta) \left[\frac{1 + \varepsilon z^3}{1 - \varepsilon z^3} \right]^\gamma + \beta, \text{ where } |\varepsilon| = 1.$$

If $\sqrt{2/(17 - 15\beta + 6\beta^2)} \leq \gamma \leq 1$, then inequality becomes equality if and only if $|p_1| = 2$. Hence

$$\frac{zf'(z)}{f(z)} = (1 - \beta) \left[\frac{1 + \varepsilon z}{1 - \varepsilon z} \right]^\gamma + \beta, \text{ where } |\varepsilon| = 1.$$

Theorem 2. Let $f(z) = z - cz^n$, $c \geq 0$, $\alpha \geq 0$, $0 \leq \beta < 1$ and $0 < \gamma \leq 1$.

Then

- (i) $\operatorname{Re} \left\{ \frac{zf(z)}{f(z)} - \beta \right\} > \alpha \Rightarrow f \in \bar{S}_\beta^* \left(\frac{2}{\pi} \sin^{-1} \left(\frac{1 - \beta - \alpha}{1 - \beta} \right) \right)$.
(ii) $f \in \bar{S}_\beta^*(\gamma) \Rightarrow \operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \beta \right\} > \alpha$, where

$$\alpha = \left[3 - \sqrt{1 + 8 \sin^2(\pi\gamma/2)} \right] / 2 [1 + \sin(\pi\gamma/2)].$$

The result is sharp with extremal function $f(z) = z - \frac{1 - \beta - \alpha}{2 - \beta - \alpha} z^2$.

Proof. (i) Since

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \beta \right\} = \operatorname{Re} \left\{ \frac{(1 - \beta)z - (n - \beta)cz^n}{z - cz^n} \right\} > \alpha, \quad (|z| < 1), \quad (3.2)$$

choose values of z on the real axis so that $\frac{zf'(z)}{f(z)} - \beta$ is real. Upon clearing the denominator in (3.2) and letting $z \rightarrow 1$ through real values, we obtain

$$(1 - \beta) - (n - \beta)c \geq \alpha(1 - c).$$

Thus,

$$(n - \alpha - \beta)c \leq 1 - \beta - \alpha. \tag{3.3}$$

Therefore

$$\begin{aligned} \left| \frac{1}{1-\beta} \left(\frac{zf'(z)}{f(z)} - \beta \right) - 1 \right| &= \frac{1}{1-\beta} \left| \frac{z - nc z^n}{z - cz^n} - 1 \right| \\ &\leq \frac{1}{1-\beta} \frac{(n-1)c}{1-c} \\ &\leq \frac{1-\beta-\alpha}{1-\beta}. \end{aligned}$$

The last inequality being equivalent to (3.3), yields

$$\left| \arg \left(\frac{zf'(z)}{f(z)} - \beta \right) \right| \leq \sin^{-1} \left(\frac{1-\beta-\alpha}{1-\beta} \right).$$

This proves that $f \in \bar{S}_\beta^* \left(\frac{2}{\pi} \sin^{-1} \left(\frac{1-\beta-\alpha}{1-\beta} \right) \right)$.

To show sharpness, set

$$f(z) = z - tz^n, \quad \left[t = \frac{1-\beta-\alpha}{n-\beta-\alpha} \right].$$

Then

$$\frac{zf'(z)}{f(z)} - \beta = \frac{(1-\beta) - (n-\beta)tz^{n-1}}{1-tz^{n-1}} = M(z^{n-1}),$$

where $M(z)$ is a Möbius transformation mapping Δ onto the interior of the disk having its diameter on the real axis with end points $\frac{(1-\beta)-(n-\beta)t}{1-t}$ and $\frac{(1-\beta)+(n-\beta)t}{1+t}$. This disk has center $\frac{(1-\beta)-(n-\beta)t^2}{1-t^2}$ and radius $\frac{(n-1)t}{1-t^2}$. Thus,

$$\begin{aligned} \max_{|z|=1} \left| \arg \left(\frac{zf'(z)}{f(z)} - \beta \right) \right| &= \sin^{-1} \left[\frac{(n-1)t}{(1-\beta) - (n-\beta)t^2} \right] \\ &= \sin^{-1} \left[\frac{(1-\beta-\alpha)(n-\beta-\alpha)}{(1-\beta)n - \alpha^2 + \beta^2 - \beta} \right]. \end{aligned}$$

Since $\frac{(n-\beta-\alpha)}{(1-\beta)n - \alpha^2 + \beta^2 - \beta} \rightarrow \frac{1}{1-\beta}$ as $n \rightarrow \infty$, it follows that $f(z) \notin \bar{S}_\beta^*(\eta)$ for any $\eta < \frac{2}{\pi} \sin^{-1} \left(\frac{1-\beta-\alpha}{1-\beta} \right)$ and $n = n(\eta)$ sufficiently large.

(ii) Setting $\alpha_n = \frac{(1-\beta)-(n-\beta)c}{1-c}$ so that $c = \frac{1-\beta-\alpha_n}{n-\beta-\alpha_n}$, we note that

$$\left| \frac{1}{1-\beta} \left(\frac{zf'(z)}{f(z)} - \beta \right) - 1 \right| \leq \frac{(n-1)c}{(1-\beta)(1-c)}. \tag{3.4}$$

Since $(n - \beta - \alpha_n)c = 1 - \beta - \alpha_n$, therefore (3.4) equals $\frac{1 - \beta - \alpha_n}{1 - \beta}$ which is equivalent to

$$\left| \frac{1}{1 - \beta} \left(\frac{zf'(z)}{f(z)} - \beta \right) - 1 \right| \leq \frac{1 - \beta - \alpha_n}{1 - \beta},$$

or

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \beta - \alpha_n.$$

Then

$$\operatorname{Re} \frac{zf'(z)}{f(z)} \geq \beta + \alpha_n,$$

or

$$\operatorname{Re} \left(\frac{zf'(z)}{f(z)} - \beta \right) \geq \alpha_n.$$

It suffices to show that $\alpha_n \geq \alpha$ for all n . Proceeding as in the proof of (i), we have

$$\begin{aligned} \max_{|z|=1} \left| \arg \left(\frac{zf'(z)}{f(z)} - \beta \right) \right| &= \sin^{-1} \left[\frac{(n-1)c}{(1-\beta) - (n-\beta)c^2} \right] \\ &= \sin^{-1} \left[\frac{(1-\beta-\alpha_n)(n-\beta-\alpha_n)}{(1-\beta)n - \alpha_n^2 + \beta^2 - \beta} \right] \\ &\leq \frac{\pi}{2} \gamma. \end{aligned} \quad (3.5)$$

Solving for α_n , we get

$$\alpha_n \geq \frac{(1 - 2\beta + n) - \sqrt{(n-1)^2 + 4(n + \beta^2 - \beta(1+n)) \sin^2(\pi\gamma/2)}}{2(1 + \sin(\pi\gamma/2))} = \eta_n. \quad (3.6)$$

Since η_n is an increasing function of n , it follows from (3.6) that $\alpha_n \geq \eta_2 = \alpha$.

Corollary 1. *Let $f(z) = z - cz^n$, $c \geq 0$. Then $f(z) \in \bar{S}_\beta^*(\gamma)$ if and only if*

$$c \leq \frac{\sqrt{(n-1)^2 + 4(n-\beta)(1-\beta) \sin^2(\pi\gamma/2)} - (n-1)}{2(n-\beta)^2 \sin^2(\pi\gamma/2)}. \quad (3.7)$$

The result is sharp for all n .

Proof. As in Theorem 2, we see from (3.5) that

$$\sin^{-1} \left[\frac{(n-1)c}{(1-\beta) - (n-\beta)c^2} \right] \leq \frac{\pi}{2} \gamma.$$

Thus

$$(n - \beta) \sin(\pi\gamma/2) c^2 + (n - 1) c - (1 - \beta) \sin(\pi\gamma/2) \leq 0 ,$$

which is equivalent to (3.7).

The next theorem shows that a certain integral operator belongs to the class $\bar{S}_\beta^*(\gamma)$.

Theorem 3. *Let $\mu > 0$, $\text{Re } c > -\mu$ and $0 < \gamma \leq 1$. If $f \in A$ satisfies*

$$\left| \left(\frac{zf'(z)}{f(z)} - \beta \right) \left(\frac{f(z)}{z} \right)^\mu - (1 - \beta) \right| < (1 - \beta) \left| \frac{\mu + c + 1}{\mu + c} \right| \frac{(\mu(1 - \beta) + 1) \sin(\pi\gamma/2)}{|\mu(1 - \beta) + (\mu(1 - \beta) + 1)e^{i\pi\gamma/2}|}, \quad z \in \Delta, \quad (3.8)$$

then $I_{\mu,c}(f)$ defined by

$$[I_{\mu,c}(f)](z) = \left[\frac{\mu + c}{z^c} \int_0^z f^\mu(t) t^{c-1} dt \right]^{1/\mu} \quad ([I_{\mu,c}(f)](z) / z \neq 0 \text{ in } \Delta)$$

is in $\bar{S}_\beta^*(\gamma)$.

Proof. For convenience, we let $F(z) = [I_{\mu,c}(f)](z)$. Consider the function p defined by

$$p(z) = \frac{1}{1 - \beta} \left\{ \frac{zF'(z)}{F(z)} - \beta \right\} \left(\frac{F(z)}{z} \right)^\mu, \quad z \in \Delta.$$

Then we easily see that

$$p(z) + \frac{1}{\mu + c} zp'(z) = \frac{1}{1 - \beta} \left\{ \frac{zf'(z)}{f(z)} - \beta \right\} \left(\frac{f(z)}{z} \right)^\mu.$$

Hence using Lemma 4 and (3.8), we deduce that

$$\left| \left\{ \frac{zF'(z)}{F(z)} - \beta \right\} \left(\frac{F(z)}{z} \right)^\mu - (1 - \beta) \right| < \frac{(1 - \beta) (\mu(1 - \beta) + 1) \sin(\pi\gamma/2)}{|\mu(1 - \beta) + (\mu(1 - \beta) + 1)e^{i\pi\gamma/2}|}.$$

Therefore, using Lemma 4, it follows that the function F is strongly starlike of order γ and $\text{tpt } \beta$.

The next theorem shows that the class $\bar{S}_\beta^*(\gamma)$ is closed under convolution with convex function.

Theorem 4. Let φ be a normalized ($\varphi(0) = \varphi'(0) - 1 = 0$) convex function in Δ and $f \in \bar{S}_\beta^*(\gamma)$. Then $\varphi * f \in \bar{S}_\beta^*(\gamma)$.

Proof. Let

$$G(z) = \frac{1}{1-\beta} \left\{ \frac{zf'(z)}{f(z)} - \beta \right\}.$$

Note that for $F(z) = \varphi * f(z)$, we have $zF'(z) = \varphi * (zf'(z))$. Hence, using a result of Lemma 6, we get

$$\begin{aligned} z \frac{F'(z)}{F(z)} &= \varphi * (zf'(z)) / (\varphi * f)(z) \\ &= \frac{\varphi * \{(1-\beta)(Gf)(z) + \beta f(z)\}}{(\varphi * f)(z)} \\ &= (1-\beta) \frac{\varphi * (Gf)(z)}{(\varphi * f)(z)} + \beta. \end{aligned}$$

This implies that

$$\frac{1}{1-\beta} \left[\frac{zF'(z)}{F(z)} - \beta \right] = \frac{\varphi * (Gf)(z)}{(\varphi * f)(z)}$$

lies in the convex hull of $G(\Delta)$. Because $\frac{1}{1-\beta} \left[\frac{zF'(z)}{F(z)} - \beta \right]$ is analytic in Δ and $G(\Delta) \subset \Omega \equiv \{w : |\arg w| < \pi\gamma/2\}$, we see that $\frac{1}{1-\beta} \left[\frac{zF'(z)}{F(z)} - \beta \right]$ lies in Ω , that is, $F = \varphi * f \in \bar{S}_\beta^*(\gamma)$.

Now, we give a sharp radius of convexity for the class $\bar{S}_\beta^*(\gamma)$.

Theorem 5. Let $f \in \bar{S}_\beta^*(\gamma)$. Then f maps $\{z : |z| < r_\gamma\}$ conformally onto a convex region, where r_γ is the unique root of

$$\{(1-\beta)(1-r)^\gamma + \beta(1+r)^\gamma\} \left\{ (1-r)^\gamma - \frac{\beta}{1-\beta} (1+r)^\gamma \right\} - 2\gamma r (1+r)^{\gamma-1} (1-r)^{\gamma-1} = 0,$$

in $(0, 1)$.

This is the best possible radius of convexity.

Proof. For $f(z) \in \bar{S}_\beta^*(\gamma)$, there is $p(z) \in P$ such that

$$\frac{zf'(z)}{f(z)} = (1-\beta)p(z)^\gamma + \beta. \quad (3.9)$$

Taking the logarithmic differentiations in both sides of (3.9), we get

$$1 + \frac{zf''(z)}{f'(z)} = \frac{zf'(z)}{f(z)} = \gamma \frac{zp'(z)/p(z)}{1 + \mu p(z)^{-\gamma}},$$

where $\mu = \frac{\beta}{1-\beta}$. Then we have

$$\operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) \geq (1 - \beta) \operatorname{Re} p(z)^\gamma + \beta - \gamma \left| \frac{zp'(z)/p(z)}{1 + \mu p(z)^{-\gamma}} \right|.$$

From the first inequality in Lemma 7, we have

$$\left| \frac{zp'(z)}{p(z)} \right| \leq \frac{2|z|}{1 - |z|^2},$$

and from the second inequality in Lemma 7, we see that

$$\operatorname{Re} \{ p(z)^\gamma \} \geq \left(\frac{1 - |z|}{1 + |z|} \right)^\gamma.$$

Then

$$\begin{aligned} \operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) &\geq (1 - \beta) \left(\frac{1 - |z|}{1 + |z|} \right)^\gamma + \beta - \frac{2\gamma|z|}{(1 - |z|^2) \left(1 - \mu \left(\frac{1 + |z|}{1 - |z|} \right)^\gamma \right)} \\ &= \frac{[(1 - \beta)(1 - |z|)^\gamma + \beta(1 + |z|)^\gamma][(1 - |z|)^\gamma - \mu(1 + |z|)^\gamma] - 2\gamma|z|(1 - |z|)^{\gamma-1}(1 + |z|)^{\gamma-1}}{(1 + |z|)^\gamma ((1 - |z|)^\gamma - \mu(1 + |z|)^\gamma)}. \end{aligned}$$

Note that

$$\begin{aligned} &((1 - |z|)^\gamma - \mu(1 + |z|)^\gamma) [(1 - \beta)(1 - |z|)^\gamma + \beta(1 + |z|)^\gamma] \\ &- 2\gamma|z|(1 - |z|)^{\gamma-1}(1 + |z|)^{\gamma-1} \end{aligned}$$

is decreasing in $0 \leq |z| < 1$, so that there is a unique root of

$$\begin{aligned} &((1 - |z|)^\gamma - \mu(1 + |z|)^\gamma) [(1 - \beta)(1 - |z|)^\gamma + \beta(1 + |z|)^\gamma] \\ &- 2\gamma|z|(1 - |z|)^{\gamma-1}(1 + |z|)^{\gamma-1} = 0, \end{aligned}$$

in (0.1). When $|z|$ is less than this root, the right hand of the above inequality is positive.

Direct calculation of $\operatorname{Re} \left\{ 1 + \frac{zk'\gamma(z)}{k'\gamma(z)} \right\}$ show that the radius is best possible where $k\gamma(z)$ is defined by $k\gamma(0) = k'\gamma(0) - 1 = 0$ and $\frac{zk\gamma(z)}{k'\gamma(z)} = \left(\frac{1+z}{1-z} \right)^\gamma + \beta$.

Remark 1. In the case of $\beta = 0$, we find that

Theorem 1 gives the coefficient bounds of a_4 in the class $\bar{S}^*(\gamma)$ which was found by Rosihan and Singh [13].

Theorem 2 gives Theorems 2 and 3 by Ahuja and Silverman [1].

Theorem 3 gives Theorem 4.1 by Ponnusamy and Singh [12].

Theorem 4 gives Theorem 6 in [7].

Theorem 5 gives Theorem 2 in [7].

References

- [1] O. P. Ahuja and H. Silverman, Strongly starlike functions with negative coefficients, Ellis Horwood Sec. Math. Appl., (1989), 29-38.
- [2] H. A. Al-Kharasani and R. A. Al-Khal, *Strongly starlike function*, (to appear).
- [3] D. A. Brannan and W. E. Kirwan, *On some classes of bounded univalent function*, J. London Math. Soc., 1:2(1969), 431-443.
- [4] R. Hallenbeck and St. Ruscheweyh, *Subordination by convex functions*, Proc. Amer. Math. Soc., 52(1975), 191-195.
- [5] R. J. Libera and E. J. Zlotkiewicz, *Early coefficients of the inverse of a regular convex function*, Proc. Amer. Math. Soc., 85:2(1982), 225-230.
- [6] A. E. Livingston, *The coefficients of multivalent close-to-convex functions*, Proc. Amer. Math. Soc., 21(1969), 545-552.
- [7] W. Ma and S. Owa, *Strongly starlike function*, Pan American Math., 2:3(1993), 49-60.
- [8] P. T. Mocanu, *Unepropriété de convexité généralisée dans la théorie de la représentation conforme*, Math.,(Cluj) 34:11(1969), 127-133.
- [9] M. Nunokawa, S. Owa, H. Saitoh, A. Ikeda, and N. Koike, *Some results of strongly starlike functions*, Math. Ann. and Appl., (AY975482) 212(1997), 107-125.
- [10] Ch. Pommerenke, *Univalent functions*, Vandenhoeck and Ruprecht, Göttingen, 1975.
- [11] S. Ponnusamy, *Differential subordination concerning starlike functions*, Proc. Indian Acad. Sci. (Math. Sci.), 104(1994), 397-411.
- [12] S. Ponnusamy and V. Singh, *Criteria for strongly starlike functions*, Complex Variables, 34 (1997), 267-291.
- [13] M. A. Rosihan and V. Singh, *On the fourth and fifth coefficients of strongly starlike functions*, Results in Mathematics, 29(1996), 197-202.
- [14] St. Ruscheweyh and T. Sheil-Small, *Hadamard products of Schicht functions and the Polya-Schoenberg conjecture*, Comment. Math. Helv., 48(1973), 119-135.

Department of Mathematics, Faculty of Science, Girls College, P.O. Box 838, Dammam, Saudi Arabia.